C11-5.4 - Prep Radical Equations HW

Square the following

Vx VTX x+2
Vx V2x
7 = =1
VX +2 2Vx +2 —2Vx+2
Jx+5 V2x +7 Vx =2
3Vx — 4 2+vx -2 8+Vx—7
Vx+24++Vx -1 Vx—1++vVx -1
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C11-5.4 - Radical Equations HW

Solve the following equations by squaring both sides, possibly do algebra first.

Vx+8=6 Vx=—4 Vx+2=5
x—1=-5 Vit3-2=5
Vx—8=-6 VZx+3=5 Vx-S =4
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C11-5.4 - Radical Equations HW

Solve the following equations by squaring both sides, possibly do algebra first.

V2x =\x + 4 Vi =V6—x 2V2x =\2x + 3
V2x —5=+vx—1 Vx+5=V2x+4 Vax —6=2x+4
2Vx+4=4 3Wrt2—3 =9 —5Vx—1=10
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C11-5.4 - Radical Equations HW

Solve the following equations by squaring both sides, possibly do algebra first.

2Vx —2=+vx+1 2Vx —5=Vx+7 2V7x —6 =3V2x—8
x=vVx+2 x=+2x+3 x=vV4x -5
2w = \Tx =3 2x =vV—-2x+1
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C11-5.4 - Radical Equations HW

Solve the following equations by squaring both sides, possibly do algebra first.

Vx+3=x+1 V2x+1=7—x
Vx+3—-1=x
Vx+4+2=x
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C11-5.4 - Radical Equations HW

Solve the following equations by squaring both sides, possibly twice. Isolate a root 1st.

Vx—3=vx+2-1 Vx+1l-Vx—4=3

Vx+35=vVx+15+Vx +3

6=4+2
X =
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Cl1l1-5.4 - Restrictions HW

Find the Restriction, by setting underneath the root = 0 and solve

x—1 Vx + 2 V2x =3 Vax +1
V=x—1 3-x V2% =3 Nig=rr
21 V=2 Nt N
JE+Dx—-1) Ve +2)(x—3) [%2 + 5x — 6 2 _2x_3
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